2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ ML2PP_7_03_W_20060505.html for a detailed report).

2.1. General Info

¢ 2.1.1 Report summary
¢ 2.1.2 Summary per product

2.2 Processing performance indicators

e 2.2.1 Successful retrievals

e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value

Report version v1.11 26-05-2015

Time of report generation 26APR2016 15:52:30

Data source version ML2PP/7.03-W

Processing scope for products

05MAY2006 00:00:00 to 06MAY2006 00:00:00

Start time of first product within scope |05MAY2006 04:40:49

Stop time of last product within scope |05MAY2006 23:08:22

Total number of level 2 products 6

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

Product name

Start time

Stop time

Prod err

Number of scans (tot/proc)

Quality summary warnings

MIP_NL__2PWDSI20060505_044049_000040312047_00248_21845_1000.N1

05MAY?2006 04:40:49

05MAY2006 05:48:00

85/85

VMR_TERM_MACRO_MICRO[HCN/macro:1; CCL4/micro:1]

#
0 0

1|MIP_NL__2PWDSI20060505_054851_000060302047_00249_21846_1000.N1|05MAY2006 05:48:51 | 05MAY2006 07:29:20 |0 128/128 VMR_TERM_MACRO_MICRO[HCN/macro:1; Fl4/macro:2; HCN/micro:1]
2|MIP_NL__2PWDSI20060505_072927_000060302047_00250_21847_1000.N1|05MAY2006 07:29:27 |05MAY2006 09:09:56 |0 110/110 VMR_TERM_MACRO_MICRO[F14/macro:1; HCN/micro:2]
3[MIP_NL__2PWDSI20060505_091003_000020122047_00251_21848_1000.N1 |05MAY2006 09:10:03 |05MAY2006 09:43:35 |0 44/44 VMR_TERM_MACRO_MICRO[F14/macro:2]
4{MIP_NL__2PWDSI20060505_210837_000051232047_00258_21855_1000.N1 |05MAY2006 21:08:37 |05MAY2006 22:34:00 |0 108/108 VMR_TERM_MACRO_MICRO[HCN/macro:1; HCN/micro:2]
5|MIP_NL__2PWDSI20060505_223450_000020122047_00259_21856_1000.N1|05MAY2006 22:34:50 |05MAY2006 23:08:22 |0 44/44 VMR_TERM_MACRO_MICRO[F14/macro:1]

2.2 Processing performance indicators

2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %

PT 519 510 98.266
H20 519 510 98.266
03 519 510 98.266
HNO3 519 510 98.266




CH4 519 510 98.266
N20 519 510 98.266
NO2 519 510 98.266
F11 519 510 98.266
CLNO 519 510 98.266
N205 519 510 98.266
F12 519 509 98.073
COF2 519 510 98.266
CCL4 519 510 98.266
HCN 519 510 98.266
F14 519 510 98.266
F22 519 510 98.266

Mumber of succassful retrievals ve, geolocation {#+=day side , triangle=night side}.
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2.2.2 Pressure overview

This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview
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2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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HNO3 winr [ppmv] HMCE wmir standard deviation [ppmv]
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.



2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.

2.2.4.7 F11 overview This sect
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hows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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F11 wmr [pprv]
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MZ05 wrr [ppmv]
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COFZ2 wmr [ppmy]
T

LS latitude [degress_naorth]

Al T T S0 008
e 00008000
B0 —
DO00EN0G F
E
= 50 - —
& - 1 0.0004000 F 1
=
T 4o " b
-l
E Q002008 F
s ]
1]
x
£.008
20 -
1ok —0L00 2003
Fs) | ] | —0L0004008
=100 —50 0 o0 100
LOS lakitude [dcgrcn:s_n-c-rth]
CCL4 wmr [pprov]
a3 T I T 00001 2008
o 0.0001 000
B0 .
BOE-D5SF 1
E
N =
L A.020E—0SF A
=
T oo m
=
E 400E-05F A
E 3o =]
11}
=4
2.0CE—05
20 -
ok h 1 2,000
bs) | ] | —L0OCHE—0E
—100 50 0 =] 1400

Retrieved altituda [krn]

Retrigved altituda [kr]

COF2 vimr standard deviation

as T T

30

30

20

10

[FPMV]

—100 —5d {
LOS labitude [dcgr\:n:s_nc-rl'.h]

ah

i

i)

58

30

20

1%

-1

CCL4 wrmr standard dewiation

a0

100

@pmﬂ

aa =5 ]
LOS latitude [degress_narth)

S

1400

0.0002500

00002004

0,0001 504

0,0001 000

S000E-05

000

L000E—-05

1.500E—05 |

1.0C0E—DEF A

S O00E-DE

008



Retrievad altituda [krn]

ah

Fit

HCM v [ppry]
T

—100

Retrievad altituda [kr]

=5

0

S

LS latitude [degrees_naorth]

F14 vrr [pprv]
T

100

al

it o

30

20

—100

=30
L5

0
latitude [degresz_north]

a0

100

0030040

C.002503

0.002000

LOd1308F

2007 006G

00003008

O 00G

—0. 0005000

o001 2046

2007 006G

00008000 F

00006003

0.0004002 F

00002003

00

—0.0002000

—0.0004000

T
1

Retrigved altituda [kr]

Retrieved altituda [krn]

HCM wimr standard deviation [pproy]
I

ad T T

it

30

20

10

=100 —ad ] =

ad

7

Litt]

38

33

20

10

-1

LOS latitude [degress_narth)

F14 wimr standard deviation [ppmy]

1800

i =50 0 a0
LOS lakituds [degress_north]

100

S000E+04

2 S00E+04

2 0C0E+04 7

1.85C0E4+04 F 1

1.000E+04

&00C,

008

00007 000

0.000J8008

0002000

00004008 F

0003000 =

00002008

0,200 Q0

000



F22 vmr [pprv] F22 wimr standard deviation [ppmy]
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Tangent aititude [km] for pressure 1000 hPa
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CH4 vmr [ppmyv] far pressure 100.0 hPo
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F11 vmr [pprry] for pressure 100.0 hPao
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Caily average [ase titls]

0.6 iy

0.5

U‘q_ ............................ e e i i e e e e e e aa e a e T L et i i e g

+—+—8C to —80 deg

, ; , ; , i | [$*—BO to —B5 deg

0.3 : ; : —B5 to —20 deg
: : : : : V| PE-2C to 20 deg
' : ' ' : : 20 to 85 deg

012 ............................ E. ............................ i. ............................ E ....................... . i ............................ .E ............................ i _Eﬁ tﬂ Eul.l:l I:IEH
: ; : ; : ; &0 to 90 deg

0.1

0. Eggﬂgﬂgm.t:r:EMmg;:grz; ........ .l ...... B I .......... E3. .. -R‘Eﬁé"-:$ﬂ:ﬂ ....... [ 1. Lan i R S : [ L Lo o T Ta wn I p;:;.

—0.1 ; : : . : .
[Nl REA 000,00 i AN Q0L 0 a0, O 0000 AC: 00,00
04 /02 S E00E 19 ,/02 /2008 OB /032006 21 03/ 2006 05/ 042008 20704 /2008 05 /05 /2006

Timz [atart of day]



CCL4 vinr [pprov] for pressure 100.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

003020 0o 00,00 AN Q00000 000G, a0 0000 ;00,00
04 /02 /5006 18 /02 F2006 o6 /03,9008 51 03,/ 2006 05 /04,2006 20,/04 /30086 (15 /05 /2006

Timz [atart of day]



HCM wrr [pprov] for pressure 10002 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

003020 0o 00,00 AN Q00000 000G, a0 0000 ;00,00
04 /02 /5006 18 /02 F2006 o6 /03,9008 51 03,/ 2006 05 /04,2006 20,/04 /30086 (15 /05 /2006

Timz [atart of day]



F14 vmr [pprrv] for pressure 100.0 hPd

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

003020 0o 00,00 AN Q00000 000G, a0 0000 ;00,00
04 /02 /5006 18 /02 F2006 o6 /03,9008 51 03,/ 2006 05 /04,2006 20,/04 /30086 (15 /05 /2006

Timz [atart of day]



F22 vmr [pprrv] for pressure 100.0 hPd

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

003020 0o 00,00 AN Q00000 000G, a0 0000 ;00,00
04 /02 /5006 18 /02 F2006 o6 /03,9008 51 03,/ 2006 05 /04,2006 20,/04 /30086 (15 /05 /2006

Timz [atart of day]



Temperature [K] for preasure 10.0 hPa

Zab

240

p-a
[
]

Caily averaga [=== title]

o YN

200

0| b——2C ta —E0 deg

RN e A S A - L — s .| 80 ta -85 deg

H —6G% to —20 deg
=120 to 20 deg
20 to 35 deq
—ES to 30 deq
&0 to 90 deq

D500
04 /02 00

OC00,40 00,00 (060,50 (500, 00 00,15
19 /02 /2006 o6 A03/ 2006 1 03, 2006 05 /04 /2008 20, /04 F000

Timz [atart of day]

O 00,0
(15 015, 7 2006



Cally cwverage [see titla]

Tangent altitude [kmn] for pressure 1000 hPa

32.0

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

8.5 . - . - .
D500 OC00,40 00,00 (060,50 (500, 00 00,15 O 00,0
04 /02 00 19 /02 /2006 o6 A03/ 2006 1 03, 2006 05 /04 /2008 20, /04 F000 (15 015, 7 2006

Timz [atart of day]



H2Z wrnr [pprev] for pressure 190.0 hPa

7.0 ! : H
Y F— SO NS ———— OSSR S Y d— ﬂnmﬁf
' ; ' ' =
; ; g MR
: 5 : + b : :
o : : g + “h K :
A T W e iy - i P T LT el e P U] H——9C ta —80 deg
- ' ' : ' : ' P | -8 ta —65 deg
K3 —B5 to —20 deg
T A Y e S WO SO S S VA SR R [F-E1-20 to 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
8 5.0
4.5
4.0 ; : : - : .
0oz 30LCD Qi 00,00 AN Q00050 Q000,00 Q00000 0 00,00
0402 £ 006 19 /0% /2008 86 /03 /2006 51 /03, 2006 05,/ 04 /2005 20,0 /2006 05 /05 / 2006

Timz [atart of day]



i

O3 winr [ppmy] for pressure 10.0 hPd

0 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg

z —— 65 to 0 deg
= &0 to 90 deq

&

3 E : 5 : *\"‘-I- gt Aegent T
Cidiz o, e O Q0 00 AP AN ) Q00,50 OO0, O D000 I Q0,00
04 765 5006 19,702 /2006 06 F63,70008 21 3, 3006 05/ Dk /2006 20 fik F 2008 05 /05 /2006

Timz [atart of day]



Caily overage [see title]

£.003

HMO3 wmr [pprry] for pressure 1000 KPa

o008

o.0n7
+—+—8C to —80 deg
4= —BC to —BS deg
0.008 —B5 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq
o5 —FES to 80 deq
&0 to 90 deg
l:l_l:":l'l* I
LRIV i
o002 ; : . : ; :
D080, 00 00 00,00 D000 00 Q000,00 o0, 00 O0z00.00 000,00
04 /02 S E00E 19 ,/02 /2008 OB /032006 21 03/ 2006 05/ 042008 20704 /2008 05 /05 /2006

Timz [atart of day]




1.6

1471

Daily averaga [=as title]
o 1

=
o

0.E

0.4

CH4 wnr [ppmy] for pressure 10.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
04 /02 00

OC00,40
19 /02 /2006

00,00
o6 A03/ 2006

Q0 00L G0
21 ,/03,/2006
Timz [atart of day]

(500, 00
05 /04 /2008

00,15
20, /04 F000

O 00,0
(15 015, 7 2006



MNZ2 wrnr [pprev] for pressure 190.0 hPa

Cally cwverage [see titla]

0,28 ]
: i
0
PP S S — — A SR S S - — &)
+—+—8C to —80 deg
5 i | pex—BO to —65 deg
; ; —63 to —20 deg
HTR [0 U Sy U U R o~ I S PO Sl - S ., [HE1—20 to 20 deg
; ; 20 to &5 deq
: —FES to 80 deq
; &0 to 90 deg
W0 T OO LT e .-..-..-..-..;. ........................... .; .......... 31-..;,_:.,“.2% 5 .: ........................... i TR, SO S
- .gﬁ 4
e a +
0.0 : ; : H : :
D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
04 /02 S E00E 19 ,/02 /2008 OB /032006 21 03/ 2006 05/ 042008 20704 /2008 05 /05 /2006

Timz [atart of day]



MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0,008

0,005
o H—+—90 to —E0 deg
004 B0 ta —65 deg
® —B5 to —20 deg
w [F-E1-20 ta 20 deg
= 20 to 35 deq
= —— 65 to 0 deg
S 0.003 B0 to 90 deg
&

0.002

0,001 i : : : : .

O 50,00 O 00,00 Pl EAN a0, G0 Q000,00 000,00 Qcy 00,00
04 /02 FEnns 18 /0% /2006 06 /03,2006 51 /03,2006 05/ 04 /2008 20,704 £ 3005 (05 /08 /3005

Timz [atart of day]



Caily overage [see title]

MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,014
012
0,010
[——00 to —&0 deg
% —B0 to —B5 deg
©.0038 —B65 to -20 deg
[E1—-2C to 20 deg
20 to 35 deq
08 —FES to 80 deq
&0 to 90 deg
L.004
o002
0,000 i : : : : .
000000 000,00 Q000,00 Q0 00L G0 a0, 00 000,00 A 00,00
04 /02 /2008 19,02 /2006 06,03,/ 2006 21 ,/03,/2006 05/ 04,2008 2004 /2008 08,05,/ 2006

Timz [atart of day]




F11 winr [ppmy] far pressure 10.0 hPa

EA

431075
'_,—E| +—+—00 to —B0 deg
"I; T {08 =+ —B0 to —65 deg
o —B5 to —20 deg
w [E1—Z0 to 20 deg
m
2 20 to 35 deq
o
& PP —ES to 30 deq
= &0 to 90 deq
&

151078

o : : : : : :
D500 OC00,40 00,00 (060,50 (500, 00 00,15 O 00,0
04 /02 00 19 /02 /2006 o6 A03/ 2006 1 03, 2006 05 /04 /2008 20, /04 F000 (15 015, 7 2006

Timz [atart of day]



Daily averaga [=se titls]

CLMO wmr [ppmy] for pressure 10.0 hPa

08012
00010
+—+—00 to —B0 deg
00008 4= —BC to —BS deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
(0008 —ES to 30 deq
' B0 to 90 deg
0,o004 [F
02002 H : : : : :
D DL O 00,00 D0, O 000,00 Q00,00 Q00000 O 00, D
ﬂ#fﬂlifilfl'ﬂ'ﬁ 1 Hfﬂif?ﬂﬂﬁ 'E'E,-'“CIEJ.-’EDEIE 21 fﬂﬁf?ﬂﬂ-ﬁ DEfD#—fE‘DDE EDfD#—f?DGE DE;"DEHE‘DDE

Timz [atart of day]



MNZCE vimr [pprmy] far pressure 19.0 hPa

0.0030

0LD025 [oroesemmsofemsis s R e S

"m' 0.0020

Daily averaga [=ss title

(NJ08 I P il et i e f """"""""""""""" """"""""""""""" "" """" If
O

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

+| [pE—-20 ta 20 deg

20 to 35 deq

0| 85 to 80 dag

B0 to 90 deg

D '
: Heny
OO B e e e e m oo e e T T L TR el I [ . .. ............................ R
3 E :
0.0005 e e froraranen s e :
__.-—-L-"H!T - i
LT i
0, 2000 : : : :
D DL O 00,00 D0, O 000,00 Q00,00 Q00000 O 00, D
ﬂ#fﬂl.‘lﬁiﬂﬂlﬁ 1 H;"EIEI.-’EEIDE E'El.-"DE:-,.-"EI’_‘IEI & 21 ,-"EGIEEPDE DEde—fE'DDE EI’_‘II.-"CM-,.-“EDE'E CIEJ.-’E'E-I.-"EE'DE

Timz [atart of day]




Caily everage [see title]

25107
O

2.'3}{1':'_4 ............................ E ........................... i.é ..........

.1 ..5:"{1{:'4 .;. .................................................... .§. ........................................................ ; ......................................................... i.;. ........................................................ i

F12 vinr [ppmyv] faor pressure 10.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq
: : : : : i | —B4 to 80 deg

e oo N . . s v 2 e e e i a e [ A . -
1.0=10 : 5 5 B0 to 90 deq

CAES
o : : : ; : :
0oz 30LCD Qi 00,00 AN Q00050 Q000,00 Q00000 0 00,00
04 /02 FE006 19 /02 /2006 86 /032006 51 /03,7 2006 05,/ 04 /2006 20,704 £ 3006 05 /05 / 2006

Timz [atart of day]




Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

01074
35x107
+—+—8C to —80 deg
5.,|:|K'1{:'4 [— —B0 1o —B5 dEg
—G3 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq
—ES to 30 deq
-+
2ol S0 to 90 deg
2010 :
1.5x107* : . - , : ,
D0z 00,00 Q0 00,00 Q000,00 Q000,00 Q000,00 Q000,00 Q0 00,00
04 /02 S E00E 19 ,/02 /2008 OB /032006 21 03/ 2006 05/ 042008 20704 /2008 05 /05 /2006

Timz [atart of day]




Cally overage [see titla]

CCL4 wmir [pprrv] for

pressure 190 hFd

431070

3x1070

2x1077

L L e I [ e Tt

""""""""""""" S [ PR =T, T gpeyops
: e B0 tn —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

E, ........................................................ Lumeesmcscmssssssscsssssssssssssmessssssssssssssssssssssecsssbocccccceemssscscesmssmsseeemeemn---
—1x10™
=2 1070 : - : - : -
D050, 00 0:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
0402 £ 006 19 /0% /2008 86 /03 /2006 51 /03, 2006 05,/ 04 /2005 20,0 /2006 05 /05 / 2006

Timz [atart of day]




HCMH wrr [pprov] for pressure 100 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

003020 0o 00,00 AN Q00000 000G, a0 0000 ;00,00
04 /02 /5006 18 /02 F2006 o6 /03,9008 51 03,/ 2006 05 /04,2006 20,/04 /30086 (15 /05 /2006

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

003020 0o 00,00 AN Q00000 000G, a0 0000 ;00,00
04 /02 /5006 18 /02 F2006 o6 /03,9008 51 03,/ 2006 05 /04,2006 20,/04 /30086 (15 /05 /2006

Timz [atart of day]



Caily everage [see title]

F22 vinr [pprmv]

for pressure 10.0 hFA

18107

162107
1.4x107
1.2:107
1.0x107t

B0 10

E_rﬂx-l.:}-! seesp e g e e .

4 0o

201070

O

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
04 /02 00

OC00,40
19 /02 /2006

00,00
o6 A03/ 2006

(060,50
1 03, 2006

Timz [atart of day]

(500, 00
05 /04 /2008

00,15
20, /04 F000

O 00,0
(15 015, 7 2006



Temperdature [K] for pressure 1.0 hPa

300
) H—+—90 to —E0 deg
= en B0 ta —65 deg
o —B5 to —20 deg
v [F-E1-20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= 240 &0 to 90 deq
=

200 : . : ; : :

O 50,00 O 00,00 Pl EAN a0, G0 Q000,00 000,00 Qcy 00,00
04 /02 FEnns 18 /0% /2006 06 /03,2006 51 /03,2006 05/ 04 /2008 20,704 £ 3005 (05 /08 /3005

Timz [atart of day]




Tangent altitude [km] for pressure 1.0 hPa

ah

48 L
0 (90 to —50 deg
- - —B0 to —65 deg
o 4 —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
= 4B —— 65 to 0 deg
= &0 to 90 deq
&

a5 [

D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
04702 /2008 19,/02 /2006 0B /0372006 21 03, 2006 05,/ D4,/ 2006 2070472008 05 /05 /20086

Timz [atart of day]




HZC winr [pprmv] for pressure 1.0 hP4d

25

L ]

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

Caily averaqa [eee title]
@

—
&

M i i X e Ros
5

e eaERaEaeRE F*E}a-#ﬂarﬂngﬁ - rﬂfﬁ

%
BE+-

v +

)

000000 000,00 Q000,00 Q0 00L G0 a0, 00 000,00 A 00,00
04 /02 /2008 19,02 /2006 06,03,/ 2006 21 ,/03,/2006 05/ 04,2008 2004 /2008 08,05,/ 2006
Timz [atart of day]




Q3 wmr [ppmy] for pressure 1.0 hPd
0.0 H : H

4.3

Daily averaga [=as title]
L
n

o
F

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

2.0 . - : : , :
D500 OC00,40 00,00 (060,50 (500, 00 00,15 O 00,0
04 /02 00 19 /02 /2006 o6 A03/ 2006 1 03, 2006 05 /04 /2008 20, /04 F000 (15 015, 7 2006

Timz [atart of day]




Daily averaga [=se titls]

HNOZ wrr [pprov] for pressure 1.0 hPa

0.8014 .
00012
AR ARL0] | EETERCEETTERTERY [PUPP A pppy : ....... B P -. ................................................................................................................... H
: [—+—00 ta —B0 deg
: % —B0 to —B5 deg
D.DDDE. N I L NI AT o o i || —EE. tﬂ —EI:I deg
[F-51—20 ta 20 deg
20 to 35 deq
Qo006 | —FES to 80 deq
E0 to 00 deg
0.0004 f-
00002 ;
0.0000 - : . , ! :
(K] AR 000,00 D00, 00 Q000,050 Q000,00 QI000L 00 000,00
04 /02 /2006 18 /02 /2006 o6 A03,/ 2006 51 003,/ 2006 05 /D4 /2008 20,/04 F 2005 (15 /05 /2006

Timz [atart of day]



CH4 winr [ppmy] for pressure 1.0 hPd

0.8 ;
= : | F—90 ta —50 deg
- e e EEFEE‘EE'E'EEE """""" 0| [ew—80 ta —B5 deg
K3 : —B5 to —20 deg
7 SR SO R ST A\ V.0 S S W Uy .. S || [FE-20 ta 20 deg
= : 5 20 to 85 deq
= —— 65 to 0 deg
(LT et e RELEEED e R RRELTITEEEEEERE S E0 to 90 deq

Tl R S A O PRIy i S e e e e e e ,W ............. %

-"—-..“___;fr +

iR : : : ; : :

D000,00 00 00,00 O0:00.00 000,00 (000,00 000000 00 00,00
0402 £ 006 19 /0% /2008 86 /03 /2006 51 /03, 2006 05,/ 04 /2005 20,0 /2006 05 /05 / 2006

Timz [atart of day]



Caily overage [see title]

MNZC winr [pprmv] for pressure 1.0 hPd
0,030 ; ; :

0.025 f-famay R e S oo
0.020 T e R e

QLTS [-mrmmemmnr e et { LTS boneemnnsns s S T froseeaneees

'E'.':":l'ﬂl SR SR o caroaraL = 3 -.-.:'.'i ________ e Ao AL EE\- hﬁw-ﬂﬁ M#

v 1+] TR ERERERTRE €~-~-~-~-~-~-~-~-~-i ---------------------------- E"-"-"-"-"-"-"-"-"-? -------- - R E -------------- =

0.005 g RS S drmnemnnn et

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

00,15
20, /04 F000

(060,50
1 03, 2006

Timz [atart of day]

00,00
o6 A03/ 2006

(500, 00
05 /04 /2008

D500 OC00,40
04 /02 00 19 /02 /2006

O 00,0
(15 015, 7 2006



Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

0.0020

BTG Feeeereromereere e ............................. .......................... e ............................

' : : ; : v | 90 to —B0 deg
FLICID [ttt bttt S, N A W0 S0 N S L B0 to —B5 deg

—G3 to —20 deg
[E1—-2C to 20 deg

20 to 35 deq
(.O008 —ES to 30 deq
' &0 to 90 deq
0.0004 [
0,800 - . . , . ,
D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
0402 £ 006 19 /0% /2008 86 /03 /2006 51 /03, 2006 05,/ 04 /2005 20,0 /2006 05 /05 / 2006

Timz [atart of day]



MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

025

0,020
o H—+—00 to —E80 deg
e A.015 B0 ta —65 deg
® —B5 to —20 deg
w [F-E1-20 to 20 deg
= 20 to 35 deq
= | —E5 to 30 deg
S 0.019 B0 to 90 deg
&

2,005

0,000 - + . - . - .

D050, 00 0:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
04 /02 /5006 18 /02 F2006 o6 /03,9008 51 03,/ 2006 05 /04,2006 20,/04 /30086 (15 /05 /2006

Timz [atart of day]
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Daily averaga [=as title]

0.2

0.0

D500
04 /02 00

F11 wmr [pprmyv] for pressure 1.0 hPg

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

19 /02 /2006

AN Q00000 000G, a0

06,03,/ 2006 21 ,/03,/2006 05/ 04,2008
Timz [atart of day]

20, /04 F000 (15 015, 7 2006
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Daily averaga [=as title]

0.2
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D500
04 /02 00

CLNO vmr [pprmy] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

19 /02 /2006

AN Q00000 000G, a0

06,03,/ 2006 21 ,/03,/2006 05/ 04,2008
Timz [atart of day]

20, /04 F000 (15 015, 7 2006




NZOE vimr [pprmw] far pressure 1.0 hPa

0.0020

0.0015 [r-ereseareressmressannssso e frmsemnn s oo forescannee s
B § § H—+—a0 ta —E0 deg
- B0 ta —65 deg
o —B5 to —20 deg
Z. 0.0010 S B Bt TR TR frmmm e oeesnsessseesnse s oo { [FE—20 ta 20 deg
2 : : : : E 20 to 85 deq
= i | B8 ta 80 deg
= : : : &0 to 90 deg
& § i :

T e T [Eies ESM | WA bz

’ * ’ i
O
0,000 - . . , : :
D0 00,00 000,00 Q000,00 000000 (0:00, 00 O0:00.00 0030000
04 /02 /5006 18 /02 F2006 o6 /03,9008 51 03,/ 2006 05 /04,2006 20,/04 /30086 (15 /05 /2006

Timz [atart of day]




F12 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
O, 100,05 00100, 20 (500, 010 (3 001,10
04 /02 FEnns 18 /0% /2006 06 /03,2006 51 /03,2006 05/ 04 /2008 20,704 £ 3005 (05 /08 /3005




Caily averaga [=== title]

COFZ wrr [ppriv] for pressure 1.0 hPa

0.0005

0.c004

00003 -

+—+—00 to —B0 deg

=+ —B0 to —65 deg
—G3 to —20 deg

[E1—Z0 to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

02002

00,5007

02000

—0,2001
—0.8002 . - : : , :
D500 OC00,40 00,00 (060,50 (500, 00 00,15 O 00,0
04 /02 00 19 /02 /2006 o6 A03/ 2006 1 03, 2006 05 /04 /2008 20, /04 F000 (15 015, 7 2006

Timz [atart of day]



CCL4 wmr [pprov] for pressure 1.0 hPa

Timz [atart of day]

.0 ; . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
O, 100,05 00100, 20 (500, 010 (3 001,10
04 /02 FEnns 18 /0% /2006 06 /03,2006 51 /03,2006 05/ 04 /2008 20,704 £ 3005 (05 /08 /3005




HCM wrar [pprmv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
O, 100,05 00100, 20 (500, 010 (3 001,10
04 /02 FEnns 18 /0% /2006 06 /03,2006 51 /03,2006 05/ 04 /2008 20,704 £ 3005 (05 /08 /3005




F14 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
O, 100,05 00100, 20 (500, 010 (3 001,10
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F22 vmr [pprmyv] for pressure 1.0 hPd

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
O, 100,05 00100, 20 (500, 010 (3 001,10
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